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QUESTION 1

Which of the following is used to test the significance for the analysis of a Variance Table? 

A. t Test 

B. F Test 

C. Chi Square Test 

D. Acid Test 

Correct Answer: B 

 

QUESTION 2

Calculate the actual process yield using the empirical data. 

Correct Answer: 80 ÷ 84 = 0.952 

 

 

QUESTION 3

Good improvement team members will: 

A. Provide valid excuses when they miss a meeting 

B. Agree with the team even when it is wrong 

C. Encourage participation by other team members 

D. Withhold unpopular information from the team 

Correct Answer: C 

Answers b and d might indicate a condition known as groupthink, which is to be avoideD. Generally, good team
members don\\'t miss meetings and therefore, don\\'t need excuses (a). A good team member will encourage
participation by other members. 

 

QUESTION 4

A definition of the possible outcomes of interest from a given experiment. 

A. Hypothesis Testing 

B. Normal Distribution 

C. Elementary Outcomes 
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D. Random Variable 

Correct Answer: D 

 

QUESTION 5

If a sample size of 16 yields an average of 12 and standard deviation of 3, estimate the 95% confidence interval for the
population (assume a normal distribution). 

A. 10.40 

B. 10.45 < m
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